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1. Which of the following will not cause a demand curve to shift position?
a. A doubling of the good’s price.

b. A doubling of the price of a closely substitutable good.

c. A doubling of income.

d. A shift in preferences.

e. A doubling of both the price of X and the price of Y.

2. Two goods, X and Y, are called complements if

a. an increase in PX causes more Y to be bought.

b. an increase in PX causes less Y to be bought.

c. an increase in PY causes less Y to be bought.

d. an increase in income causes more of both X and Y to be bought.

3. Consider the two statements:

I. X'is an inferior good.

I1. X exhibits Giffen’s Paradox.

Which of the following is true?

a. | implies 11, but Il does not necessarily imply 1.

. Il implies I, but I does not necessarily imply II.
c. I and Il are statements of the same phenomenon.

O

D

. The production function q =/ KL

a. exhibits constant returns to scale and constant marginal productivities for K and L.

b. exhibits diminishing returns to scale and diminishing marginal productivities for K and L.
c. exhibits constant returns to scale and diminishing marginal productivities for K and L.

d. exhibits diminishing returns to scale and constant marginal productivities for K and L.

5. A profit-maximizing monopoly will produce that output for which
a. marginal revenue equals price.

b. average cost is minimized.

c. marginal cost is minimized.

d. marginal cost equals marginal revenue.
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6. The “deadweight loss” from a monopoly refers to

. the portion of a monopolist’s profits that are above the competitive profit level.

b. the increase in price due to the monopolization of a market.

c. the inefficient use of factors of production by a monopoly.

d. the loss of consumer surplus due to the monopolization of a market that is not transferred
to another economic actor.
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. Positive economic profits exist for a firm in the long run if price is above
. long-run average cost.

. long-run marginal cost.

. long-run total cost.

. long-run variable cost.
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. A fixed-proportion production function has isoquants that are (b)
. almost flat (i.e., the isoquants are almost straight lines).

. L-shaped.

. normally shaped (rectangular hyperbolas).

. None of the above.
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15.The base year used in computing a price index is

a.
b.
C.

d.

The year in which prices were at their lowest level.

The year in which prices were at their average level.

A recent year from which meaningful comparisons can be made.
The earliest year for which data are available.
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Suppose that the current market price of VCRs is $300, that average consumer disposable
income is $30,000, and that the price of DVD players (a substitute for VCRS) is $500.
Under these conditions, the annual U.S. demand for VCRs is 5 million per year. Statistical
studies have shown that for this product eqp=-1.3, eq,=1.7, and eqp--0.8 where P’ is the
price of DVD players and P is the price of VCRs. (12 points)

Use this information to predict the annual number of VCRs sold under the following
conditions:

a.

b.

Increasing competition from Korea causes VCR prices to fall to $270 with | and P’

unchanged.
Income tax reductions raise average disposable income to $ 31,500 with P and P’

unchanged.

Technical improvements in DVD players cause their price to fall to $400 with P and |
unchanged.

All of the events described in part a through part ¢ occur simultaneously.
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C=180+0.50Y

1=200-400i

L1=0.25Y

L2=50-100i

M3=180
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